Math 200 - Test 1 Sep 20 2012

Question 1. [10]:
~ For this question use
) a=i+j—2k, b=3i—2j+k, c=j—5k
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Question 2. [10]:
/) (a)[8] Find parametric equations for the line through the point (1,0, —1) and which is parallel to the line
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Find symmetric equations for the line through Q(—2,0,8) and R(1,5,0) .
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Question 3. [10]:

_ For this question use the points P(4,3,6), Q(—2,0,8) and R(L,5,0)

/ (a)[5] Determine the area of the triangle with vertices P, @ and R .
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(b)[5§] Show that the triangle with vertices P, Q and R is a right triangle.
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Question 4. [10]:

() (a)[5] Find an equation of the plane through (2,1,0) and parallel to x +4y — 3z = 1.
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<) (b)[5] Find an equation of the plane through (1,2, —2) that contains the line
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Question 5 [10]:
(’\ (a)[5] Determine the distance between the planes 3x +y —4z =2 and 3x + y —4z =24 .
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(b)[5] Find an equation for the set of all points equidistant from the points P(7, —8, —9) and Q(—4,2,-10).
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